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=  ( ) +   
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-  :=  P y = y 
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C = 100 + 0.8Yd , I = 600 – 6000i   

T = 0.1Y – 60, G = 140, R = 200 

Md1 = 0.5Y, Md2 =  487.5 – 8000 I, Ms = 1200 

X = 400, M = 0.2 Y+ 80 

-  :+ 4 K2 0.02 L –Y = 10 L   = 300 0K  

-  Wr = 4 + 0.02 L Wr =    

-  :  

  

-   

-   

-   

-   

- ) = W 9  (

 ,  
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Y = 100 + 0.8Yd + 600 – 6000i + 140 + 400e – 0.2Y – 80e 
  = 100 + 0.8 (Y – 0.1Y + 60 + 200) + 600 –6000i + 100 + 400 – 0.2Y – 80 
  Y = 2850 – 12500i  

2-  :    d= M SM 

1200 = 0.5Y + 487.5 – 8000 I     0.5Y = 1200 – 630 + 600i 
                                                      Y = 950 + 10000i    

3-   

-     IS = LM :  

 2850 – 12500i = 1425 + 16000i     1425 = 28500i 
i = 0.05,   Y = 2225  

4-   

=   Wr = 10 – 0.04 L 

5 -   

-   :  

WS = WD   4 + 0.02L = 10 – 0.04 L 

                  L = 100 

-      :  :  

                                                    6=  rW          

 6-   

Y = 10(100) – 0.02(100)2 + 4(300) = 2000 

7-  IS   

2000 = 2850 – 12500i  i = 0.068 

8-   

- LM :  

   = 0.5Y + 487.5 – 8000 I     0.5Y =  – 630 + 600i  

                                                      Y =  - 975 + 10000i 
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-  : LM   

 - 975 + 10000(0.068) = 2000   = 1887  P = 1.2718 

9-  W = 9:  

 = Wr  = 6  P = 1.5 
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